Population Growth Simulation
Using graph paper, graph the following number of organisms in a population at a given time.  

· One graph per side of graph paper. Answer the questions for each graph on the back of the graph paper.

· Use a ruler to connect the lines and mark the axis.

· Each axis should be labeled.

· The number of organisms should go on the y-axis (vertical) while the time goes on the x-axis (horizontal).

Situation One: A scientist is tracking the number of rabbits in Australia.

	Year
	Number of Rabbits

	1
	100

	2
	105

	25
	1000

	37
	1600

	55
	2400

	72
	3350

	86
	8000

	100
	13,150


1. What type of growth does this population show?
2. What can you infer about the conditions and resources available to the rabbits?

3. Can you determine the carrying capacity for this population?

4. What would happen if the amount of resources available to this population doubled?

Situation Two: A scientist is raising fruit flies.

	Day
	Number of Fruit Flies

	5
	10

	10
	50

	15
	100

	20
	200

	25
	300

	30
	310

	35
	320

	40
	320


1. What type of growth does this population show?

2. What can you infer about the conditions and resources available to the fruit flies?

3. Can you determine the carrying capacity for this population?

4. What would happen if the amount of resources available to this population doubled?

Situation Three: A scientist growing yeast in a petri dish

	Hour
	Number of Yeast Cells

	1
	5

	2
	25

	3
	50

	4
	100

	5
	150

	6
	160

	7
	155

	8
	162


1. What type of growth does this population show?

2. What can you infer about the conditions and resources available to the yeast cells?

3. Can you determine the carrying capacity for this population?

4. What would happen if the amount of resources available to this population doubled?

Situation Four: A scientist is growing bacteria in a nutrient broth.

	Hours
	Number of Bacteria

	1
	1

	1.5
	2

	2
	3

	2.5
	8

	3
	60

	3.5
	350

	4
	7,000

	4.5
	12,000


1. What type of growth does this population show?

2. What can you infer about the conditions and resources available to the bacteria?

3. Can you determine the carrying capacity for this population?

4. What would happen if the amount of resources available to this population doubled?

Situation Four: Warmer weather allows a tree to grow further north.

	Year
	Number of Trees

	1
	2

	5
	4

	10
	8

	15
	16

	20
	17

	25
	18

	30
	16

	35
	17


1. What type of growth does this population show?

2. What can you infer about the conditions and resources available to the trees?

3. Can you determine the carrying capacity for this population?

4. What would happen if the amount of resources available to this population doubled?
